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.     Conditional Probability with Trees    .
After many flight lessons Bad Jelly the witch may have improved her ability.

She crashing her broomstick on 2 out of 5 (first) flights. If she crashes, she will be late 80% of the time. The probability of her not crashing and being late is 0.3
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1)  What is the probability she is late given that she did not crash? 

2)  What is the probability that she crashed if she is late.

3) If she is late she gets flustered and the chance of her crashing on her return flight increases to 3 in 5 flights
If she crashed on the first flight, what is the probability she crashes on the return trip?
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.     Possible Conditional Questions    .
Look out for the ‘given’ or ‘If’ statement in the question

1)  Find P(B),  Given A happens,


2)  Find P(A),  Given B happens 
          and knowing P(A n B)





and knowing P(A n B)
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3) Find things, Given A happens,



If 






then ‘A’ and ‘B’ are independent
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.     Infinite Probability Trees (extension)    .
Nigel the nerd flips a coin to see who will be the best of his imaginary friends.
Nigel’s three imaginary friends ‘me’ ‘myself’ & ‘I’ are pretty excited by this and want there to be an infinite number of coin tosses – as you would.
The first imaginary friend who gets a ‘tail’ becomes Nigel’s best friend. 
They rotate in the order ‘me’ first, then ‘myself’ & ‘I’
What are the probabilities for each of ‘me’ ‘myself’ & ‘I’ becoming Nigel’s best friend.
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